1A03 — (Calcutes | P SciEnce

(Section COZ) rEarTarl
e _ _

w jmpLic T DIFFERENT/ATION
We com d(‘[(‘maﬁ eciua.téM X ‘fww{ ﬁug,wb
to curves that are wot necessarily jﬂ!’ol’lS‘ of funchioms
€q. CE{:MPQ xl+—xj B 33 )
PWSPQS.S\ % (xz -(‘Xj)/ - ('?_ + v&)

[MCE X 5 9py yaxy' s (9

=y v (Rwe
\WJe wawk Slope 9{:{1-1@2!“' \‘L ‘jg J —\'Cﬁ:}i.:
ok ?,{at (xuo)’(&z—\ ( nke)
So Qlu €0\f ‘o' y (7(_’2523 = ":Z-X:‘j
e @2 i
y = = (Zx-t-ﬂ
2C- 3\3‘
o af ('S(Z), :7‘: s= (iC, =F 2) e
“2-12 1.

Eﬂ/\h“‘(’iw‘ 0-(' "’Ml\jcu\‘t ltere &k ((,‘3\ ;(2)2) .
f 2
= x-3)+ 4L = 0 F = =
AR 27" " =,

Ws Lob Y = arcsin(x)
Ay

Rnd

AOC .



Well Stn (tj) =X

\W\pl{ci‘c dl(z‘m{'ia%{w\ - c.oc(b).j/ =1
( (

A, ' C

9y ¢

W. ‘ | /= oos(oircs:v\(x))
gim:\&‘(@ -‘é— (arccos (X)) = — ,-|——-

o
dv (afc aM(DL) IT-XZ

I ‘GM Tedvatives of nvesze E»w\d-im S

SANose \[(x\«s |’|, dt'guwuelado((, M
SM(OSZ ‘F is alse Aigwﬁ&la(a.

\Whakt 15 (F _
Wl T 9= £760 ) Ham flg) =
Diffreubioke wmplicitly WC(‘J)ﬂ -1 N
(j ’ ’F (9) ‘F (FY:O)



gy,

L / . \ B
o | 676D P(qf"(xﬂ

Exawgle ok ,F(x)=\,;c—-(-'x7'+l X =0
Find e S‘(ofe of Hlre Wgewl— liwe +o Y= ]{‘" (x)
at {’Lt ?oiwl’ (3, |3

—

N Notiw: FV=3, S 4"(33 =1
(

Colukion
ol ‘(X\) ‘F (‘ (s D f'(”
1 x=
EVulmJ,;a:t Wit s 1L ') - Lz - o
’9 ((\ _L + ’L = -E-Z
2 .

ZC DPeivatives of log. functions

M
-F-o( n::leLI )L>O)b7£l)

W M bg = C So b\o ]w\l(,(t d.ié[p_rev\{'iaﬁm

Lrowt '.; __(__- s _,(’
e ’ (nb) b (Inb) =



Frauwple Latr $&)= |n (sin®x) . Fnd £CO)

P = f()
Solubim Y= 9(00 =l dy _ Ay o dv
- o \A(V)" dx ~ dm dv dx

v= k(x) =sin

( _ /[_ 7v - CoSXC = 2 Swix . s X
go —F()C) = U ' S‘m\z\x /
= 2 o=t(X).
n gomerd L»o (hain Rule -
S (e (6 ) - , W
th)

y = &) ,,ﬁ hod to siffercetriaZ.
10, rale (,,a&"( in applied to bott siles )
ln Y = In €0x)

_3, = ﬁ-//n/ﬁr))



EXMA,()(( et y ._\[;C;—t‘  Bad 9/.

Solution Y= (x+ ‘)Vz Cou,la( use Rueotiedt
(x‘;_ ')(/7_ RUV{L mp ;\’
o B \/
Or o : +alke (ogs \V\S-:\V\(’C“")L
p dEI

( 3t > 4 | 2
I B Rl
7 )T 22U x>

\fi:;/
VPl =3\ (e 1)1
2 (eenG3-) 3 (="

PR ( —2x> —3x* —\
=\ eyt (-0 )



